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Maths Answers: Lesson 1
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Compare and order fractions less than 1 .

o Write <, » or = to compare the fractions.

Use the bar models to help you.
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o Sort the fractions into the circles.

o Write <, > or = to compare the fractions.

greater than % equal to 1 less than %
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o What could the missing numerators and denominators be? o, e Write the fractions in ascending order.
Write a number in each box to make the statements correct. ) 2.9, 3 ‘9 b
e j g -5-‘ 7' 3' Z‘ ﬁ
- 0 ? 5 u 3
5 B0 & 10 _s
b) - < = e) =< h) — <
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Compare answers with a partner. @ 0 % 77_0- _;_ .1% %
' 3 L 3 3
E 'IO B s ;0
° Tommy and Eva are comparing fractions. O’
#38221
8 173007+ 3
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| found a common
denominator of 36 to
compare the fractions.

° Whaot could the missing numerator be?

polwled

15

| found a common
numerator of 4 to

compare the fractions.
Write all four possibilities.

&
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Whose method is more efficient? _lacaul 13

Talk about your answer with a partner, @




Red Tasks:

1a. & parts shaded, =
2a. 1C, 2A, 3B (ascending: 1, 2, 3)
7,1
3a. False ETIRET
7

4ﬂ.T

la. Wynter is incomect. Various answers, for

example: She could vse a bar model which

4 4
shﬂws’rhnlﬁ < -

2 5 . -
2a. 5 13 ( s s also a possibility but not

expected at this stage).

3a. Kyle has put the fractions in descending

.| 7 10 14
arder., The comrect order is 16 18 16" 16

Deepen the moment...
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Gold Tasks:

§a. 15 parts shaded, =
10a. 1C, 2B, 3A (ascending: 3, 1, 2)

114. True

11
12a, 12

Ja. Fran is comrect, Varous answers, for
example: She could vse a division diagram

which shows fhul% = ]—%und a bar model
4

which shc::wsT = BT
g B 25 12
120 380 18

?a. Mo has ordered the fractions by their

denominators before he has found a common

denominator, The comect order is
1 2 3 4

5" &5 5" §-°

a) Jason has drawn his bars the wrong size, as the whole of each bar model needs to be the same size. Also,
he has thought that the numerator and denominator added together show how many parts you should

b)

draw.

Children may suggest that Jason needs to understand that the numerator shows how many parts you

have and the denominator shows how many parts there are overall.
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Maths Answers: Lesson 2

Compare and order fractions less than 1 @ Vite <. > or = to compare the froctions.

o Write <, » or = to compare the fractions. b)

Use the bar models to help you. '?I/ J
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W‘ W %% e Sort the fractions into the circles.

greater than % equal to % less than +
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o What could the missing numerators and denominators be? @ o Write the fractions in ascending order.
Write a number in each box to make the statements correct. ¥ 3 3 3
e3 Y5730
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5 3 5 10 5
b) E— < == e) = = h) — <
6 12 5 12 251512
J wiiitd
o N <2 f 23 D B ud 1 a s E s
12 6 6 24 E q q 7 3 [3

Compare answers with a partner,
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o Tommy and Eva are comparing fractions.

B 17+ 30 7+ 3
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| found a commaon
denominator of 36 to
compare the fractions.

o Whaot could the missing numerator be?
[ found a common

numerator of 4 to
compare the fractions,
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=) 5715 70
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Write all four possibilities.
-m m
Whose method is more efficient? lacsur, - E -

15 15 15 15
Talk about your answer with a partner, @




Red Tasks:

1b. 2 parts shaded, >

2b. 1C, 2B, 3A (ascending: 3, 2, 1)

3b. True

7

4b. Y
1b. Xin is incorrect. Various answers, for
example: He could use a bar model which
shows that —:';— > %

I T

. ?° 18
3b. Holly has ordered the fractions by the

numerators. The correct order is
2 3 7 B
10° 10° 10° 10°

Deepen the moment...

Harriet’s fraction could be %, %, % ar% or any eguivalent fractions whose denominator is a multiple of 3.

Gold Tasks:

¥b. 57 parts shaded, <

10b. 1B, 2C, 3A (descending: 1, 3, 2)
9

11b. False _1%*1_ = o

12b. %

7b. Mallory is incorrect. Various answers, for
example: The only common factor of 18 and
32is 2 and he can't divide the numerators by
2, Instead, he must muknzlimﬂr\ T‘ummufcrs 21

Fi
by multiplying 75 by 3. 58 < 32
S 3 37
8b. B 9% 9%
?b. Mildred has ordered the fractions by the
numerators before she has found a common

denominator. The comect order s

5 4 3 2

7' 7° 7°' 7°

Children’s bar models should show the fraction they have chosen compared to the two fractions given. Here is an

example showing %.

Leo is wrong. Children may draw bar models to show that 5 is larger than % They may also use their knowledge of

eguivalent fractions to prove that% = %, which is larger than %

PONTEFRACT
ACADEMIES TRUST




.! PONTEFRACT pm
ACADEMIES TRUST

Maths Answers: Lesson 3

Compare and order fractions fMathe 4 ° Write <, > or = to compare the fractions.
greater than 1

7 12 10 5 18 32
HOMEEHOHNE IO
HOEEETICHT IOk

o Write <, > or = to compare the fractions.
Use the bar models to help you. 2 10 5 18 9 18
9% T "3 T V% 2

a)

wiwn
oo

e Filip has 3 -‘% bottles of juice.

Scott has 3 % bottles of juice.

Who has more juice?
5 15 _Scolk  has more juice.
b) 3 o

Rosie’s ribbon is % metres long.

N
I
N
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(-]

% %:/'?’ ?;‘% QZZ? %zé%%fq Teddg'sribbonis% metres long.

Qur ribbons are the
same length.

27, | 7227, |#22| |77

%////// %4;1//(/',’ cf{/ﬁ; ///i/;/,/) Explain why Rosie is wrong.
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Gold Tasks:

3 &
74a. ET'C ET

& 7 16 18 24 .4 B 15§
2Q.—&~ 57010 8a.—" 475 407 g

2 .6 .7 66 B 18 87 , 6
3a. 13- 1557 155 7a. 3.5 90 I Fg

Deepen the moment...

3 S
a) Lucas has drawn the bar models which show 7 and g different sizes — the whole bar needs to be

the same size. Also, he has only drawn one square to represent one whole.

b) Children may suggest that Lucas needs to improve his understanding of what a whole is and how it
is used in a mixed number.
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Maths Answers: Lesson 4

o Write the fractions in descending order. 0 Alex and Dora each have two identical cakes.
8 4 8 8 16 Alex cuts each of her cakes into 6 equal pieces and gives 10 of her
a) 35 15 2' 8 friends a piece each.
g (2| [ [4] |2
a2 3 = S IS
Y- 32158 18 2
b) 3 9 9+ 69
5 3 15 i2 3 Dora cuts each of her cakes into 12 equal pieces and gives 18 of her
[3 3 1 9 9 friends a piece each.
o148 17 27 34
* 10" 10° 1+ 20
% Iy 3 a 3
] 5 10 L) 1o

Who has more cake left?

o Find three possible ways to complete each statement,

a) 4 9 4 : B Dot has more cake left.
- < < = ) — < < —
1.3, 4. 8 .8
. . s 3 4 e The greater the numerator, the greater the fraction '
1 9 a g 8 Give at least three examples to show that the statement is
- < , < = —_— - < -
4 8 5 4 not correct.
3 |
b) % < @ < —I% Vadaun ansuers ¢ .9 2 S 2
2 )
A 15
Lo, gt
S L T |
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Red Tasks: Gold Tasks:
a4 12 28 24
1“' 5 - 10 ?'Cl. 5 = 7

2a. . is the mistake because it is 8a. %ii the mistake because itis

2
. 9 . . &
equivalent to S%thi:h is more than 2%. equivalent to 3—=which is more than 3.

3a. Mo iz correct because the fractions ?a. Jason is correct because the fractions

are ordered from smallest and his fraction are ordered from smallest o largest and

] . 25
{%] comes in between the two given his fraction [T} comes between the two

fractions given fractions.

Deepen the moment....

Kwawmena is correct.

Riley is wrong. Although one whole is larger than a fraction of a whole, an improper fraction is larger than one
whole.

Sally is wrong. Although 3 is the larger numerator, we need to look at the denominators as well as the whole in
the mixed number to tell which is the larger number or fraction.
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Maths Answers Lesson 5: Arithmetic Test

Answer Sheet: Key Stage 2: Year 5: Arithmetic Test 3 w

Guidance: Children will have 30 minutes for this test.

fguestion answer marks Guestion answer marks
412 1 22 + 1
7 an 23 I 1
3 13 24 10.01 1
4 L 25 4908 2
5 z 26 168 805 2
f 8043 1 27 74 2
7 2437 1 28 969 2
g 12 1 Total 32
9 120
10 2640
1 6.2
12 29
1 75
14 68 160
15 59 600
16 480 905
7 B
18 6300
19 g0
20 540
2 15 0f 15

Deepen the moment...
100,000 —9,999 =90,001.

Possible top tips: When exchanging you cannot skip/jump across columns, you must
exchange from each column in order. Line your columns up accurately.
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Spellings Homophone Match-Up Task:

Spelling

Steel

Steal

Altar

Alter

Led To have guided the way. To
show everyone else what to do
or where to go.

Lead, A saft, silvery white or greyish
metal.

Assent The act of agreeing to
something.

Ascent & | The act of rising or climbing,

Z'».

Bridal Relating to a bride (someone
getting married).

Bridle A device for controlling a horse
made up of a set of straps
enclosing the head, a bit, and a




English Answers: Lesson 1.

1. It suggests that at one time it wus not quiet and peaceful.

2. There is a positive mood in hoth stanzas. It is calm, peaceful, serene, etc.

3. Itis asimile.

4. Various answers: That it is a perfect place to live in, almost as idyllic as heaven.

5. The wur, fighting and death caused it to- twm to hell.

6. Various answer: definition of hitter is: full of or causing anger, hatred, or sadness. The wor
made people feel angry, hateful or sad.

7. Personification/metaphor.

8. It means that lots of people died as though Death is trying to get more people.

9. Various answers: To show that even though there have been horrors in the past, the valley
has retwned as though nothing happened. The writer is hoping that people won't forget.

Deepen the moment...

Various possible answers - it helps to build an image in the reader's mind/allowing the reader to
pictwre what the writer is experiences/to feel what it is like to be within the setting.

English Answers: Lesson 3

The sentence has heen imporved by adding adjecitves to make it into- an expanded noun phrase, a
Jronted adverbial, a relative clause and a subordinate clause. It has given the sentence more
information which helps to build a better image in the reader’'s mind.

Red/Blue Task:

Various answers giverw.

Example: Reassuringly, the small, blonde girl, who wus afraid because of the sounds of
exposions, held her younger brother's icy-cold hand hefore he fell to sleep.

Gold Task:

Various answers given.
1. Example: Reassuringly, the small, blonde girl, who wus afraid hecause of the sounds of
exposions, held her younger brother's icy-cold hand hefore he fell to sleep.
2. Example: Awkwurdly, the young, scared children, who held hands, queued up for the long,
3. Example: In silence, the shy, awkwwrd pair walked along the long, deserted roud, after
wutching a scary movie.
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Reading for Productivity Answers: PSHE Lesson 1

1:
1.
2.
3.
4,
5.
6.
7.

: True or False key

. Keg/

The Media and Body Image

The Body Image Advertising Portrays

The Effects of False Body Image Advertising
In Comes Social Media

Plastic Swrgery and Photoshop

A Toxic Mirror

The Answer to Body Anxiety?

N
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3: parenting, education & intimate relationships.

5: 60%
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Reading for Productivity Answers: Computing Lesson 2

1. ‘Aninternet we trust: exploring reliahility in the online world
2. Questioning the reliahility of what we see online and, to give young, people the skills and
3. Nawvigate
4. Fill in the missing words.

Although the Internet is a great source of information for young people, we should not
5. Various answers: Fake news is news or stories on the internet that are not true.
6. Various answers: The intermet can help families living in different countries hecause there
7. Match the situations to the correct action.

Situation Action
Sid tries but he can't log on to his game. Tell an adult
A strunger keeps sending Luca annoying | Click the ‘Report
Messages. Buttorn.
Abdulrahman saw a video that worried him. + Click the ‘Help’ Buttor.
Something has made you feel unsafe, worried or | Click the ‘Block
unhappy Button.

8. Various answers: I think Safer Internet Day is an important even hecause it helps to raise
awareness abhout any online issues and supports young people in how to he safe and

Deepen the moment...

Various responses which show an understanding that this advice is wrong and unhelpful and that
an adult should be told. For example: I think the advice is unhelpful hecause it is hard to forget
about something worrying. Instead, she should tell an adult and block the user.
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Reading for Productivity Answers: Geography Lesson 3

1. What challenge will humankind face as we enter the new millennium?
to trunsform the existing economy into one that does not threaten or destroy the enwironument.

2. Why couldn't people in the past stop the destruction of the enwironment?
"1 They were ignorant simple peaceful people.
[l They did not know people in the governments.
[l Their governments did not helieve that the enwironment wus heing destroyed.
3. Thopwpleoj&wdag,huwehzwnwnwmmumo}dwmlamhlphwumﬂwwwﬂwr
O mmmwmmmm
[ the efforts of governments
[l extensive media coveruge
1 collapsed fisheries
4. Give2 zxmnpws,thztzxt&gszojlhowﬂwwwmrmnzgnﬁvelg,impmmplwwt?
sudd;mdewth&qﬁbud& d,oqmluns,ami,}vsh mwrdhzubwm,m@mmsturm&ﬂwbm
widespread destruction
5. Decades hefore, who mainly played a dominant role in drawing attention to the destruction of
the enwironument?
6. Who is paying more attention to preserving the enwironment today?
agencies
7. Whatis a ‘green consumer'?
has a high recycled content
8. What is the writer trying to convey in the expression Time is of the essence?
1] The very essence of life is time
[l itis important
1 We must not delay,
1 Time is life

Deepen the moment...
destructions. For example: recycling, sustainahbility, stopping deforestation and destroying hahbitats;,
including the ocean, ways to reduce pollution, etc.
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Reading for Productivity Answers: Science Lesson 4
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1. What are the names of the two types of frictior.
Static and Kinetic

2. What is air resistance also known as?
‘Drug

3. Match the following types of air resistance with their cause:

Ligt induced, when an object moves at a high
speed through a compressible pluid,

Wave drag happens when a solid ohject moves
through a fluid,

Parusitic drag

happens as the result of the creation
af lift on a three-dimensional lifting

body, (wing or fuselage)

4.  Summarise the meaning and uses of streamlining.
Various answers. For example- Adopting a certain shape in order to- move quickly and

5.  The text gives some examples of air resistance in everyday life, can you think of any
others that you may have noticed?
Various answers.

6. What is the link between friction and air resistance?
Air resistance is a type of Priction.

7.  What does the term ‘air particles’ mean?

8.  Some animals have certain body shapes in order to move efficiently through air or water.

What does the word efficiently mean? In a way that achieves maximum productivity
with minimum wusted effort or expense.

Deepen the moment...
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Reading for Productivity Answers: PSHE Lesson 5

1. What is the vocabulary word in the text that means “a solution to the conflict’?
a. resolution

2. Why do you think the author included the bullet points in this particular text ahout conflict
resolution?

c. So yow could more easily see the steps in conflict resolution.

3. According to the text, what is the most likely reason to use conflict resolution?
d. So you can have a framework to solve problems.

4. Definitions (Write the meaning gf each word as it is used in the text.)

1. address - think about and hegin to deal with (an issue or problem).
"a fundamental problem has still to be addressed”

2. heart - the centrul or innermost part of something.

3. peers - a person of the same age, status, or ahility as another specified person.
IIMm. l I .[. . E hj,s, l . n

5. Summarise the role of the mediator in conflict resolution.
The role af the mediator is to serve as a listener in the situation and a




